





(4) i§40m, BTX 60m, B 24m OWENRHD, ZOMBOBEN~NFTHENHD 14400lm DL &, Z
DENROTVLHERE L LCTELNS DR, 7221, ZOMBROBENOTEIHRE 026 97D,

There is a room (width: 4.0 m, depth: 6.0 m, height: 2.4 m). When total luminous flux of 14400 Im is
emitted into the room, choose the correct value of the average indirect illuminance of the room. In the room,
average indoor reflectivity is 0.25.

1. 16kx 2. 3151 3. 50k 4. THIx 5. 150 Ix

FiRAEHH
Answer Field

(5)  TRARADHF] & LT, Bbilie~ BARERICLDFRIRD 5 HEND
Choose the most adequate indication by the Munsell notation system as “dark grayish blue.”
1. 5B3/2 2. 10B8/8 3. 7.5B6/8 4, 2.5B92 5. 2.5P6/12

fiRZEAR
Answer Field

(6) FRARIECESTERENCBET 25000 5 6, RO NEHERHOIELENDY

Choose the most inadequate one from the following descriptions regarding city planning or urban
environment.

1. #EtERE AT AT, R L TS RERKIRO X5 21T O B H D,
(Municipalities that have City Planning Area have to divide Urbanization Promotion Area and
Urbanization Control Area.)

o, BEOEHL— NTA Ty FREOEMIY, HEREBHRBOEFC AR TH D,

(Mitigating urban heat island phenomena in summer is effective for mitigating global warming.)

3. METHEMIR T, AESEHERTOZ L BAETHD,
(It is also possible to build residential houses and stores in “Quasi-Industrial Districts”.)

—













(11) BSIRCEE ARtk e LT, HbREYRbOIZEI, ROHPNE—DES,
Choose the most inadequate one from the following descriptions regarding architectural drafting.

1. /BT, AROBESIC X > T AEIIRIIED 2,
(In the two-point perspective, the image depends on the height of the viewpoint.)

2. O, BEEYR P OEER TSI AATIERE JIS) TEHLNTRY, ZbEMWTHIR 1/100
R R (=P AP
(The architectural plan symbols such windows, doors and stairs are designated by JIS, Japanese
Industrial Standards. The floor plan at a scale of 1:100 is drawn using them.)

3. RHEEATIE, Ol OO HEHEMEN LD &5 RS b2,
(One of the features of oblique projection is that the image is drawn from one viewpoint.)

4. HEEHEOBRIOOE I, HE HENE L 22 B0 O TENTROFEME R~ T2 &2 D,
(One of the purposes of the sectional detail drawing is to show the vertical sectional details on the
structurally standard part of the building.)

5. WMET#Y, EHRREHNEONFLEE X T, BRTHFORNMIIRRBY BEHET D,

—————

execution drawings and specifications.)

Answer Field







(14) ueXAZROBE L U CEYIZR DI END, LITDE

(Pantheon, Rome)

2. m—OYy e HAT s Tl T ha e T B
(Church of San Carlo alle Quattro Fontane, Rome)

3. T4V DY R e YT o )Ty T
(Church of Santa Maria Novella, Florence)

4. BYKERE:
(Pisa Cathedral)

5. TV F OV AR I —L A2 7T IR
(Church of Sant' Apollinare in Classe, Ravenna)

fREHR
Answer Field

(15) B. AVFNNY—r OBEERE LTHo & bl bDiilhgy, SIFMHES,
(baose one finm the followines. which is the most adequate building designed by E. Mendelsohn.

1. HATN RGP
(Castel Béranger)

2. WI9H - T77IY7T
(Sagrada Familia)

3. TAVY a2
(Einstein Tower)

4. vy OFFER
(Notre-Dame du Haut, Ronchamp)






(18] D& H REPHELZITAIEIVIZBNT, AA TOREHEORKOMRHEE LTSIV S DIERD 5 Ho
Enin,

The figure shows a beam subjected to a concentrated load. Choose the nearest absolute vertical reaction force
at point A among the followings.

1. g P
) A o
2. E A é - A
I L |L/21L/2|L/2|
8 P | | [ | 1
4p
4. [—
3
3P
5, —
2
FiRER
Answer Field

(19) MO& D WEERITD T RZBNT, M ABICAELI8AR L LT, RBENSDIEIRD I H L,
L, WAL, BIRNEE, FRAERET D,

Consider a truss subjected to a load as shown in the figure. Choose the nearest axial force of the member AB

among the followings. The positive value of axial force indicates tensile axial force, while the negative value
indicates compressive axial force.

) _2\/§P L

; A |

\2P
Sy L
P
3.—
3 B
—L L L
V2P
4, —
3
2v2P
5 -
3
HEIEHR
Answer Field

11



(20]) KDOXDRERREEZITHIE 08 A IKWELZHEFAEMNOKRESE LT, BHLIEWVLDIFKRD S B ER
D3 10 ORI RS ) &5,

Consider a beam subjected to a concentrated load as shown in the figure. The bending stiffness is shown in

the figure, ( the ne t. vertical di entat nnint. he fnlla
PL3 2P
1.
16EI !
; YA
PL3 ?
2, — 2E] g EI
8EI
5PL3 , L2 l L2 |
3.
16EI | ' '
3PL3
4.
8EI
5PL3
8EI
R

Answer Field




(2 1) SMEOTHEEIRTOMOMENE, L0 &5 RS > < ST ORED,
TRO D b B bEL R bOEES,

What kind of building part is constructed by
the material marked with a circle in the
construction photo of outer wall? Choose

4
o e
“
B —

w







(25) gz 7 U — MEMIZEET 2 FREORBRD 5 b, Hb N2 b O E,
Concerning the reinforced concrete members, choose the most inadequate description among the followings.

L. MRREEOR AMTREEICIL, R b0 EFOROMTELD HORHD,
(Shear fractures of shear walls include that cross the beam and that occur between the upper and lower
beams.)

2 ‘ig‘J‘,‘}aﬁbkﬂ/l TINZ 7 S Z AW L He) o ) P e b 7 L EE=I )

(The slab integrated with the beam can be structurally designed on the assumption that a part of slab
resists bending with the beam.)

3. BZORAMOUENREI IS RS EORELZIT 5,
(The shear crack strength of the beam is affected by the amount of tensile reinforcement.)

4, ww%@4ﬁﬁf%~f/%%kﬁéw BRAF OIS EITIITRIRE & V2,
& : .

b BN L

Lt W_gi L

the stress level of the tensile reinforcement.)
5. EAEGRRCIE. BEIREIC LA ABITERE X0,

(Shear force due to sustained load cannot be ignored when structural designing.)

fREHR
Answer Field

(2 6) KITRIWITEZ bOSFH =7 U — NEEMBHTE— A N, BCE

i, THICBIEEAMER LT B, ROBRO 5 HRBIES 2 b Ol Eh, :
d
_ o eeelt
Concerning the reinforced concrete beam whose cross section is shown in e ——
figure, in which a compression is applied to the upper end and tension is Age
applied to the lower end as a result of bending moment, choose the most D
adequate description among the followings. Ay
—
oeoo
d,




(2 7) HOMEPREHEROBRI S 3, WHEAEM CH LMK (EE 20 mm, §§ 100 mm) OFRIRS % ERES72HI0
TAE/NES XKD, BLIENbORUFOFNLIRS, 72720, ik & Bk E O 5RMERIES) & & AT
RIENE, ENEN FBET0.6F &9 5, : :

Calculate the minimum length X of the fillet-weld to achieve that the yield strength of the connected steel
plate (thickness 20 mm, width 100 mm) is larger than that of the welded joint, and choose the nearest value

Ldﬂv wtleg £all~vimer Srimmenatenailoannld atunno nadahnarine saald Qtrgsp& ﬁﬁmw ate
—

- )
Pl
weld are Fland 0.6£.
. X

1. 120 mm '

o 140 mm 100 mmI =

3. 160 mm Thickness: 20 mm
4, 180 mm 10 mm L
5. 200 mm

jiesit]
Answer Field

(2 8] MR TTR—R S OEOEMAERFAENETE LA, Kt H, Hy H, OBRICOVT, LS
DELTOHNLERN, 2L, R RThERm S L, yiiEb ) ITEET 5D ET D,

For the columns (a), (b) and (¢) in the figure, which have the same length and same buckling load, choose the

correct relations among the column dimensions H,, H, and H.. Note that each column has a solid section
shown in the figure, and each column buckles around y -axis.

1. H,=H, =H, %P %P gli

2. H,=H,<H, ! ‘, ;
: /"\ /'I\
3. Ha - Hb > Hc ! ," Buckling ," Buckling
: ’ ;'\ ! mode { mode
4. H,=H, <H, / Buckling | |
a ¢ ; mode Lw
' o - rravor
y Yy y
5. H,=H,>H, - . |
Solid rectangular BI X BI X BI X
column section
+—t —t —t
H, H, H,
(a) () ©



(29] g - KB 2 LT ORI Chic b N2 & D &R,
Choose the most inadequate description concerning soil and foundation among the followings.

1. WREEL, HEOPCRBERIH L, B TH o,
e ——— ieclaggified to the vounsest.generation inthe zeologics and copsists of soft soil

2. HINEHIL, BABYOERICERS L ORMROIEHT, HE/ 4 TH 5,
(Back marsh is swampy lowland formed behind natural levees and consists of soft soil.)

3. MhiX, ToPTHREBAENINE L HBRERE,

Teem e ma dae menalla-ties casdiala carmacnce ol rrvee Lo mq -mr }

4. E@ﬁj:f‘ \ ﬂ%ﬂ::tf‘%ﬁ@ﬁirib%ﬁ%b\

o e 5o Sl A M i 0 (g i R R g o 0 )

5. WUEBNCR DXL, MORREES L SRR TRME XA 5,
(End-supported piles in a foundation support a building by shaft friction and end bearing capacity of piles.)

fiiasii
Answer Field




(30) BIHBRO—EMER LI bDOTH D, Wt A DARTE LTELWHDIKD 55 X,

The figure shows a part of roof. Choose the correct number as the name of member A among the followings.
1. #FK (rafter)
2. MUK (ridge beam)
3. BE (purlin)
4. /NER (roof post)

5. K (oist)

FRAEA
Answer Field

18
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ZER EDAESIE
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Notices

(1) There are 7 question and answer sheets including a front sheet.
(2) Fill in your examinee's number in the columns at the top of every sheet for questions and answers including
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BaEEy (FMRA ID
Building Engineering (IT)

Subject

AP A
Program

TS
Architecture

ZRES

Examinee’s Number

M

(2]

M 1SR THER ST 28510 2o\ T, FRENOEM O e—X v MEFHE L, T — A FMEERE,

L, B0 kERRERT, 2B, K2 eafmERETHEICET DEERE—A Y bERT,

Calculate the bending moment of a continuous beam which has a uniformly distributed and a concentrated load
in Fig.1 and draw the bending moment diagram. The notation kin Fig. 1 indicates the relative stiffness ratio.
In addition, Fig.2 shows the fixed end moment of a uniformly distributed and a concentrated load.

B0kN 40kN/m
A l B C
k=3 k=2
[ 2m  2m 6m | 4m |
I | 1 ] i
X1 Fig.1
w Pl
T T i, wy
i l i le | l
I IM1 = E
X2 Fig2

(7% (Answer))




HEARIE | ST (FMRE 1D TasGh | BEETOTT A ZHE M
Subject | Building Engineering (1) Program Architecture Examinee’s Number

- Ao

= ey ekl gt i S e, R lr e Vo ado MM L2 o e
e LY = e

- —_

15 &35, DIFORICEX &, V

(1) BARN b—AbT= 0 IERT AN ZRD &,

(2) BHRL MOBERAL NRDZRD &,

(3) +072 T X0 REETRRS D H71E% 2 DI X,

(4) AN ML DI S TOMHMEE 0 L DUERDH D, TORMEZTIIE L,
(5) AL MLEARL MLOMOBHEE 5 & DRERD D, TOBEAEDIE L,

Cons1der the friction-type connections using high-strength bolts subjected to tensile force 600 kN as shown in
the ﬁgures It is assumed that the friction coefficient between the plates is 0.45 and the safety factor i is 1.5.

]
e
r«Ts=——/// — —— —————

(1) Find the shearing force per bolt.
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